Module’s name:   2. Quantitative analysis

1.
Which method isn’t method of gravimetry?
A.
indirect method volatilization

B.
direct method volatilization

C.
*Complexonometry

D.
precipitation method
E.
particulate method
2.
Which method isn’t method of gravimetry?
A.
precipitation method

B.
*Protolitometry

C.
direct method volatilization

D.
particulate method
E.
indirect method volatilization
3.
Gravimetric analysis is divided on … :
A.
Conductometry
B.
Only volatilization method

C.
Only precipitation method

D.
Only particulate method
E.
*Particulate, precipitation, volatilization gravimetry

4.
Which method is method of chemical quantitative analysis:
A.
Turbidimetry and coulometry
B.
Protolytometry and nephelometry
C.
Only gravimetry

D.
*Titrimetry and gravimetry
E.
Only titrimetry
5.
Choose equation for calculation of gravimetric factor at definition of Lithium in weighed form - Lithium phosphate.
A.
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6.
Choose equation for calculation of gravimetric factor at definition of Iron (ІІІ) in weighed form Fe2O3.
A.
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7.
Often recognise that a relative error of weighing should be calculated … in indirect method volatilization gravimetry:
A.
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8.
Letter F is designated in equation of calculation of weight of defined substance 
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 in precipitation gravimetry:
A.
Content of investigated component in shot

B.
Weight of weighed (gravimetric) form
C.
mass fraction (%)
D.
*gravimetric factor

E.
Faraday constant
9.
Calculation of weight of defined substance in precipitation gravimetry:
A. *
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10.
In indirect method volatilization gravimetry calculate the optimum weight of defined substance under the formula:
A.
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11.
Choose equation for calculation of impurities concentration Сn which remained in a precipitate after n rinsings.
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12.
Which method is method of gravimetric analysis?
A.
Mohr method

B.
A polarimetric method

C.
Fajans - Fisher - Khodacov method

D.
A neutralisation method

E.
*A particulate method
13.
For a definition of ash of substances or drugs use method:
A.
Distillation or precipitation gravimetry
B.
*Particulate gravimetry

C.
Precipitation gravimetry
D.
Indirect method of volatilization gravimetry
E.
Direct method of volatilization gravimetry
14.
An exact shot of solid substances take, weighing substance:
A.
*In above listed ways

B.
On capsules from paper

C.
On special glass

D.
In test tubes with stoppers

E.
In crucible
15.
For a definition of quinine hydrochloride content an exact shot of defined substance  dissolve in water, add the alkaline to strong basic medium and quinine-base extract by chloroform. After that chloroform drive away, and the received pure quinine-base dry up and weigh. Such sequence of operations is characteristic for a method:
A.
Distillation or precipitation gravimetry
B.
*Particulate gravimetry

C.
Precipitation gravimetry
D.
Indirect method of volatilization gravimetry
E.
Direct method of volatilization gravimetry

16.
What conditions are necessary for formation of crystal precipitate?

A.
Slow precipitation from the cold concentrated solutions

B.
Fast precipitation from the hot concentrated solutions

C.
Slow precipitation from the cold diluted solutions

D.
Fast precipitation from the hot diluted solutions

E.
*Slow precipitation from the hot diluted solutions

17.
For determination a content of water in drugs and medicinal substances use:
A.
A permanganatometric method

B.
A precipitation gravimetric method

C.
Mohr method

D.
A particulate gravimetry method

E.
*A volatilization gravimetric method
18.
Definition of the sulphatic ash according to pharmacopea’s requirements spend processing test of an investigated preparation:
A.
Sulphatic anhydride

B.
Ammonium sulphate

C.
Solution of sulphuric acid
D.
*The concentrated sulphuric acid
E.
Sodium sulphate
19.
To advantages and lacks of the gravimetric analysis it is necessary to note:

A.
Low sensitivity and high accuracy

B.
Low sensitivity and low accuracy

C.
High selectivity and duration of the analysis

D.
High sensitivity and duration of the analysis

E.
*High accuracy and duration of the analysis

20.
At first requirement which concern to the weighed (gravimetric) form is:
A.
High chemical stable of the weight form

B.
Insignificant hygroscopicity of the weight form

C.
The content of a defined element should be whenever possible smaller

D.
The content of a defined element should be whenever possible big

E.
*Exact conformity of structure to the chemical formula
21.
At the analysis on quality of medicinal plants determinate a loss on drying: weigh a shot of medicinal plants to be examined, dry in an oven at 100-105 °C for 3 h.; cool and weigh. Such sequence of operations is characteristic for a method:

A.
Distillation or precipitation gravimetry
B.
Particulate gravimetry

C.
Precipitation gravimetry
D.
*Indirect method of volatilization gravimetry
E.
Direct method of volatilization gravimetry
22.
A dish and crucible, which dried up to constant mass, store in:

A.
The conditions protected from light or in desiccators

B.
*Desiccators over diphosphorus pentoxide
C.
Conditions over the sated solution chloride calcium

D.
The conditions protected from a light and a dampness
E.
The conditions protected from light

23.
The terms "dried to constant mass" mean:

A.
2  consecutive weighings do not differ by more than 0.5 mg
B.
Drying before reception of value of parallel measurements of weight which differ less than accuracy of weighing

C.
*Drying before reception of the changing weight

D.
Drying before reception of value of consecutive measurements of weight which differ less than accuracy of weighing

E.
Drying to not changing weight

24.
Accuracy of weighing on analytical scales makes:

A.
0,01 g

B.
*0,0001 g
C.
0,00001 g
D.
0,001 g;

E.
0,1 g
25.
For quantitative definition of some substances use a formation of insolubility chemical compound which then dry to constant mass and weigh. Such sequence of operations is characteristic for a method:
A.
*Precipitation gravimetry
B.
Electrogravimetry method
C.
Distillation gravimetry
D.
Volatilization gravimetry

E.
Particulate gravimetry

26.
The gravimetric method of the analysis is based on definition … … defined substance:
A.
Optical density

B.
Exact density

C.
*Exact weight

D.
Exact force

E.
Exact volume

27.
At the analysis on quality of tinctures determinate a loss on drying of extracts: weigh an extract to be examined, dry in an oven at 100-105 °C for 3 h.; cool and weigh. Such sequence of operations is characteristic for a method:

A.
Distillation or precipitation gravimetry
B.
Particulate gravimetry

C.
Precipitation gravimetry
D.
*Indirect method of volatilization gravimetry
E.
Direct method of volatilization gravimetry
28.
For definition of the water in some preparations use a distillation of water with toluene. A water sets in the special receiver; its volume is defined and through density find directly weight of water. Such sequence of operations is characteristic for a method:

A.
Distillation or rectification metod
B.
Precipitation gravimetry
C.
Distillation method

D.
*Direct method of volatilization gravimetry
E.
Indirect method of volatilization gravimetry

29.
At the analysis on quality of tinctures determinate dry residue of tinctures. For this definition use a method:
A.
Precipitation gravimetry
B.
Electrogravimetry method
C.
Distillation gravimetry
D.
*Volatilization gravimetry

E.
Particulate gravimetry

30.
What conditions are necessary for formation of amorphous precipitate?

A.
Slow precipitation from the cold concentrated solutions

B.
*Fast precipitation from the hot concentrated solutions

C.
Slow precipitation from the cold diluted solutions

D.
Fast precipitation from the hot diluted solutions

E.
Slow precipitation from the hot diluted solutions

31.
To advantages and lacks of the gravimetric analysis it is necessary to note:
A.
Low sensitivity and high accuracy

B.
Low sensitivity and low accuracy

C.
High selectivity and duration of the analysis

D.
High sensitivity and duration of the analysis

E.
*High accuracy and duration of the analysis
32.
Indicator phenolphthalein (рТ = 9) is used for titration of 0,1 mol/L Sodium hydroxide solution by chloridic acid solution. Indicator’s error is called:

A.
Hydroxonium or hydrogen
B.
Bases error

C.
Hydroxonium error

D.
Acidic error
E.
*Hydroxyl error

33.
This substance is impossible definition with phenolphthalein:
A.
Na2CO3
B.
*NaHCO3
C.
CH3COOH

D.
HCl

E.
NaOH

34.
The back acid-base titration is used at definition of a substance:
A.
KOH

B.
NaHCO3
C.
HCl

D.
NaOH

E.
* (NH4)2SO4
35.
Indicator methyl red (рТ = 5,5) is used for titration of 0,1 mol/L chloridic acid solution by sodium hydroxide solution. Indicator’s error is called:

A.
Hydroxyl or bases
B.
Bases error

C.
*Hydroxonium error

D.
Acidic error
E.
Hydroxyl error

36.
Indicator phenolphthalein (рТ = 9) is used for titration of 0,1 mol/L ammonia solution by chloridic acid solution. Indicator’s error is called:

A.
Hydroxonium or hydrogen
B.
*Bases error
C.
Hydroxonium error

D.
Acidic error
E.
Hydroxyl error

37.
Indicator methyl red (рТ = 5,5) is used for titration of 0,1 mol/L acetic acid solution by sodium hydroxide solution. Indicator’s error is called:

A.
Hydroxyl or bases

B.
Bases error
C.
Hydroxonium error

D.
*Acidic error
E.
Hydroxyl error
38.
In titrimtric analyses use a neutralisation method. What is working solutions (titrants) in nonaqueous titration?
A.
*HClO4, (С4H9)4NOH
B.
KI, K2Cr2O7
C.
NaOH, HCl

D.
AgNO3, BaCl2
E.
NaNO2, KMnО4
39.
For quantitative definition of chloridic acid in gastric juice is necessary to use:
A.
Compexation titration
B.
Nonaqueous acid-base titration
C.
Mohr method
D.
*alkalimetry

E.
acidimetry
40.
To 10,0 mL of 0,1 mol/L acetic acid solution add 10,9 mL of 0,1 mol/L sodium  hydroxide solution. Which colour will be in solution in the presence of phenolphthalein?

A.
The Yellow

B.
Orange-pink

C.
*The Crimson

D.
The Red

E.
Colourless
41.
Titration curve is plotted in coordinates:
A.
Potential of system - рН of solution

B.
pMe in a solution - volume of added titrant
C.
pH of solution - concentration of titrant
D.
*pH of solution - volume of added titrant
E.
Solubilities of electrolit - рН
42.
Extract of Thermopsidis and sodium hydrocarbonate are components of tablets “Anthytusin”. For quantitative definition of sodium hydrocarbonate is possible to use:
A.
Compexation titration

B.
*Acid-base titration
C.
Nitritometry

D.
Mercurometry

E.
Permanganatometry
43.
At titration of 0,1 mol/L sodium hydroxide solution by chloric acid use the indicator phenolphthalein (рТ = 9,0) and thus the titration error is called:

A.
Bases or Hydroxyl
B.
Bases error

C.
*Hydroxyl error

D.
Acidic error

E.
Hydroxonium error
44.
Which solvent it is necessary to use for increase of base acid force:

A.
aprotic solvents
B.
differentiating solvent
C.
Levelling solvents

D.
*Acid solvents (with progenic properties)

E.
Solvents with the basic (prophilic) properties

45.
What is titer of solution?
A.
Weight of substance in grammes which contains in 100 mL of water

B.
*Weight of substance in grammes which contains in 1 mL of a solution

C.
Quantity of substance equivalents which contains in 1 L of a solution

D.
Weight of substance in grammes which contains in 1 L of a solution

E.
Weight of substance in grammes which contains in 1 mL of solvent
46.
To 100,0 mL of 0,1 mol/L sodium hydroxide solution add 100,9 mL of 0,1 mol/L chloridic acid solution. What colour will be in solution at presence phenolphthalein:

A.
The Yellow

B.
Orange-pink

C.
*Colourless

D.
The green

E.
The Crimson
47.
How is named the value рН in which there is the sharpest change of indicator colour?
A.
*end point of titration

B.
Equivalence Point

C.
Interval [site] of colour transition of the indicator
D.
exponent of indicator

E.
Titration Indicator
48.
In titrimtric analyses use a protolytometry. What is working solutions (titrants) in this method?

A.
KІ, KMnО4
B.
KI, K2Cr2O7
C.
AgNO3, BaCl2
D.
*NaOH, HCl

E.
NaNO2, Na2S2O3
49.
The drug contains sodium carbonate and sodium chloride. Choose a quantitative method of sodium carbonate definition:

A.
Mercurymetry

B.
Dichromatometry

C.
*The acid-base titration

D.
Mercurometry

E.
Cerimetry

50.
The back acid-base titration is used at definition of substances:

A.
KOH
B.
*NH3
C.
HCl

D.
NaOH
E.
H2SO4
51.
Indicator errors of titration in a neutralisation method are caused:
A.
Application of very small concentration of the indicator

B.
Infringement of a chemical structure of the indicator in some conditions

C.
*Discrepancy of an equivalence point and end point of titration

D.
Incorrect order of the indicator addition

E.
Use of a considerable quantity of the indicator

52.
The indicator in a method of the acid-base titration is chose (the best):

A.
On products of hydrolysis reaction

B.
By the nature of titrant, which will be in excess after e.p.

C.
It is possible to take any pH-indicator

D.
Having analysed force of analytes and titrant
E.
*On a titration curve

53.
At titration of 0,1 mol/L formic acid solution by sodium hydroxide use the indicator methyl orange (рТ = 4,0) and thus the titration error is called:

A.
Acidic or Hydroxonium
B.
Bases error

C.
Hydroxyl error

D.
*Acidic error

E.
Hydroxonium error
54.
Which solvent it is necessary to use for increase of acid force:

A.
aprotic solvents
B.
differentiating solvent
C.
Levelling solvents

D.
Acid solvents (with progenic properties)

E.
*Solvents with the basic (prophilic) properties

55.
To 10,0 mL of 0,1 mol/L sodium hydrocarbonate solution add 9,0 mL of 0,1 mol/L chloridic acid a solution. Which colour will be in solution in the presence of methyl orange:

A.
*The Yellow

B.
Orange-pink

C.
The Crimson

D.
The Red

E.
Colourless
56.
How is named site of рН at which colour of the indicator sharply changes and stop to add titrant?
A.
Neutralisation Point

B.
Titration Indicator

C.
Titration Jump

D.
*Transition Interval

E.
Indicator Constant

57.
In titrimtric analyses use a neutralisation method. What is working solutions (titrants) in nonaqueous titration?
A.
*HClO4, CH3ONa
B.
KI, K2Cr2O7
C.
NaOH, HCl

D.
AgNO3, BaCl2
E.
NaNO2, Na2S2O3
58.
For quantitative definition of the sodium tetraborate content (it is salt of weak acid and the strong base), it is possible to use such method:

A.
Mercurymetry
B.
*The Acid-base titration
C.
Dichromatometry

D.
Mercurometry

E.
Cerimetry
59.
What is molarity of solution?
A.
*Quantity of substance mols which contains in 1 L of a solution

B.
Weight of substance which contains in 1 L of a solution

C.
Quantity of substance mols which contains in 1 L of solvent

D.
Quantity of equivalent mols of substance which contains in 1 L of a solution

E.
Quantity of equivalent mols of substance which contains in 1 L of solvent

60.
The back acid-base titration is used at definition of substances:

A.
KOH

B.
NaOH

C.
HCl

D.
H2SO4
E.
*CH3COOH

61.
…. is a laboratory instrument used to transport a measured volume of liquid:

A.
beaker

B.
Graduated cylinders
C.
Volumetric flask

D.
*pipette

E.
burette

62.
In which case during titration the equivalence point coincides with a neutrality point?
A.
During titration of salt by strong acid

B.
During titration of the weak base by weak acid

C.
During titration of the weak acid by strong base

D.
During titration of the strong base by strong acid

E.
*During titration of the weak base by strong acid

63.
…. for preparing liquids with volumes of high precision. It is a flask with an approximately pear-shaped body and a long neck with a circumferential fill line

A.
beaker

B.
Graduated cylinders
C.
*Volumetric flask

D.
pipette

E.
burette

64.
…. is a vertical cylindrical piece of laboratory glassware with a volumetric graduation on its full length and a precision tap, or stopcock, on the bottom (or calibrated glass tube).

A.
beaker

B.
Graduated cylinders
C.
Volumetric flask

D.
pipette
E.
*burette
65.
A colored compound whose change in color signals the end point of a titration is named:

A.
Substance

B.
*Indicator

C.
analyte
D.
titrant

E.
aliquot
66.
Solution of substance (concentration is not known) is named:

A.
Substance

B.
Indicator

C.
*analyte

D.
titrant
E.
aliquot
67.
Solution of substance with known concentration is named:

A.
Substance

B.
Indicator
C.
analyte

D.
*titrant

E.
aliquot
68.
An …. is usually a portion of a total amount of a solution

A.
Substance

B.
Indicator

C.
analyte
D.
titrant

E.
*aliquot
69.
Choose equation for calculation of titre of titrant by investigated substance:
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70.
Choose equation for calculation of weight of investigated substance by results of back titration:
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71.
Choose equation for calculation of weight of investigated substance by results of direct, displacement or reversive titration:
A.
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72.
For calibration of burettes use:
A.
Physical-chemical method

B.
Don’t calibrate

C.
Titration

D.
*a pouring out method

E.
an injection method

73.
For calibration of pipettes use:
A.
Physical-chemical method

B.
Don’t calibrate

C.
Titration

D.
*a pouring out method

E.
an injection method

74.
For calibration of volumetric flask use:

A.
Physical-chemical method

B.
Don’t calibrate
C.
Titration
D.
a pouring out method

E.
*an injection method
75.
How is called the titration moment in which quantities of reacting substances become equivalent?

A.
Neutralisation Point

B.
Titration Indicator
C.
Final point of titration

D.
*Equivalence Point
E.
inflection points
76.
Titrants of neutralisation method are standard solutions of acids and alkalis (secondary standard substances). Choose substance for standardization of solution chloridic acid solution (a method separate shot):

A.
*Na2CO3
B.
Na2S2O3
C.
HNO3
D.
CaCO3
E.
H2C2O4
77.
Which method is method of acid-base titration:

A.
Complexonometry

B.
*acidimetry
C.
Gay-Lussac method

D.
Mercurymetry

E.
Dichromatometry

78.
Which reactions are used in a neutralisation method:

A.
*The acid-base reaction

B.
Only colouring

C.
Sedimentation

D.
The complexing

E.
Oxidation-reduction

79.
Which indicators are used in neutralisation titration method?

A.
Without indicators

B.
*Acid-base - indicators

C.
Redox - indicators
D.
adsorption indicators

E.
Indicators - reagents

80.
In a method of the acid-base titration define:

A.
*Acids, bases and salts which hydrolyze

B.
Only salts which hydrolyze

C.
Strong acids and weak bases

D.
Only strong bases

E.
Only strong acids

81.
What is titration name in which the analyte displaces a species, usually from a complex, and the amount of the displaced species is determined by a titration?
A.
Precipitation titration

B.
Revertive titration

C.
Back titration

D.
*displacement titration
E.
direct titration
82.
To 10,0 mL of 0,1 mol/L chloridic acid solution add 12,0 mL of 0,1 mol/L sodium hydroxide solution. Which colouring will be solution in presence phenolphthalein:

A.
The Yellow

B.
Orange-pink

C.
*The Crimson

D.
The Red

E.
Colourless solution

83.
Chloridic acid titrated by sodium hydroxide. This is method of … :

A.
Mercurometry

B.
Mercurymetry

C.
*neutralization

D.
Redoxometry

E.
Complexonometry

84.
How is called method of the analysis in which a working solution is alkali?

A.
gravimetry

B.
Redoxometry

C.
Complexonometry

D.
*alkalimetry

E.
acidimetry

85.
What is titration name in which a reagent is added to a solution containing the analyte, and the excess reagent remaining after its reaction with the analyte is determined by a titration?

A.
Precipitation titration

B.
Revertive titration

C.
*Back titration

D.
displacement titration
E.
direct titration
86.
The back acid-base titration is possible to definite of substances:

A.
KOH

B.
NaOH

C.
HCl

D.
H2SO4
E.
*CH3COOH

87.
We don’t use titration in the acid-base of titration:

A.
*Weak basis by weak acid

B.
Salts of weak acid by strong acid

C.
Weak basis by strong acid

D.
Weak acid by strong basis

E.
Strong acid by strong basis

88.
Which reaction is used at titration acetic acid by NaOH solution?

A.
Complexing reaction

B.
Sedimentation reaction

C.
Reaction of bromides oxidation to free bromine

D.
*Neutralisation reaction

E.
Redox reaction

89.
How is called the standard solution which is prepared from exact shot of initial substance?
A.
Titrated

B.
The Standardized

C.
Solution prepared from the standard - titer

D.
Solution with established titer

E.
*Solution with prepared titer
90.
Colour change of the acid-base indicators qualitatively and quantitatively is explained by the theory of indicators:
A.
adsorption

B.
metallochromic

C.
It is ionic-chromophore

D.
*The theory of chromophore

E.
Ionic
91.
In titrimetric methods of analysis use indicators. Which indicators are used in a neutralisation method?

A.
redox-indicators

B.
*The acid-base indicators

C.
External indicators

D.
Oxidation-reduction indicators

E.
Metal-indicators

92.
What is titer of solution?

A.
Weight of substance in grammes which contains in 100 mL of water

B.
*Weight of substance in grammes which contains in 1 mL of a solution

C.
Quantity of substance equivalents which contains in 1 L of a solution

D.
Weight of substance in grammes which contains in 1 L of a solution

E.
Weight of substance in grammes which contains in 1 mL of solvent
93.
In titrimtric analyses use a neutralisation method. What is working solutions (titrants) in this method?

A.
І2, KMnО4
B.
KIO3, K2CrO4
C.
AgNO3, BaCl2
D.
*NaOH, HCl

E.
NaNO3, NaCl
94.
The drug contains sodium hydrocarbonate. Choose a quantitative method of sodium hydrocarbonate definition:
A.
Mercurymetry

B.
Dichromatometry

C.
*The acid-base titration

D.
Mercurometry

E.
Cerimetry
95.
Titrant in nitritometry is Sodium nitrite solution which is secondary standard solution (0,1 mol/L). Exact concentration of Sodium nitrite is defined on:
A.
Chloridic acid

B.
Sulphatic acid
C.
*Sulfanilic acid
D.
Oxalic acid

E.
Potassium hydroxide
96.
Sodium nitrite solution is secondary standard solution. It is standardized on:
A.
*potassium permanganate
B.
sulphatic acid
C.
sulphaminic acid
D.
sulfitic acid
E.
sulphidic acid

97.
Bromatometric definition is always spent in medium:

A.
Neutral and basic

B.
*Very acidic

C.
The neutral

D.
The basic

E.
Neutral and weak acidic

98.
Titrant of cerimetry is standard solution of cerium (IV) sulphate which is:

A.
Primary and can be secondary standard solution which is standardised on iodine

B.
Secondary standard solution which is standardised for sodium thiosulphate
C.
*Primary, and can be secondary standard solution which is standardised on sodium thiosulphate
D.
Secondary standard solution

E.
Primary standard solution

99.
Definition of ascorbic acid content by a method cerimetry are spent at presence redox - the indicator. Which indicator is used?

A.
Methyl orange (0,1 % solution)

B.
Ammonium iron (ІІІ) sulphate (the sated solution)

C.
Starch (1 % solution)

D.
Methyl red (0,1 % solution)
E.
*ferroin, (0,025 mol/L solution)

100.
Titrant of bromometry is standard solution of bromine which is very toxic and its does not prepare as a solution. A bromine is obtained in reaction:

acidicce in the given method is:

A.
Hypobromite - bromate mix
B.
Iodide - bromide mix
C.
Iodide - bromate mix

D.
Bromide - hypobromite mix

E.
*Bromide - bromate mix

101.
Titrant of bromatometry is solution of potassium bromate (KBrО3). It is:

A.
Primary and can be secondary standard solution which is standardised on potassium chloride

B.
Primary standard solution

C.
Secondary standard solution which is standardised on sodium thiosulphate
D.
*Primary and can be secondary standard solution which is standardised on sodium thiosulphate
E.
Secondary standard solution

102.
Defined substances in chloriodіmetry are:
A.
*Reducers and many organic substances

B.
Oxidizers and many organic substances

C.
Oxidizers and reducers

D.
Reducers

E.
Oxidizers

103.
Choose formula of titrant in a method cerimetry:

A.
Ce3(PO4)4
B.
Ce(NO3)4
C.
Ce(NO3)3
D.
Ce2(SO4)3
E.
*Ce(SO4)2
104.
Chloriodіmetry is used for definition of substances in … medium:

A.
Neutral, acidic and weak basic

B.
*Neutral and basic

C.
Acidic and basic

D.
Acidic and neutral

E.
The acidic

105.
Definition of ascorbic acid content by a method cerimetry are spent at presence ferroin which belongs to … indicators:

A.
*Redox-indicators

B.
The acid-base

C.
The External

D.
The Irreversible

E.
adsorption
106.
Which substances we may to define in method bromometry:

A.
Oxidizers and organic substances which are capable to replacement reactions

B.
Oxidizers and reducers

C.
Reducers

D.
Oxidizers

E.
*Organic substances which are capable to replacement reactions

107.
Titrant in method of bromatometry is solution of …:

A.
Br2
B.
*NaBrО3
C.
KBr

D.
KВrО4
E.
KBrО2
108.
In direct bromatometric definition with the indicator methyl orange in e.p.t. observe:

A.
Change of yellow colouring on the red

B.
Disappearance of dark blue colouring

C.
Occurrence of red colouring

D.
*Disappearance of red colouring

E.
Occurrence of dark blue colouring

109.
Bromatometry is used to quantitative definition of …:

A.
*Reducers, amine, phenols

B.
Oxidizers, amine, phenols

C.
Reducers and oxidizers

D.
Phenols

E.
amine
110.
Titrant a solution iodine monochloride in Chloriodіmetry are prepared at action substances:

A.
potassium periodate and potassium iodate in chloric medium

B.
potassium iodide and potassium iodate in sulphatic medium

C.
*potassium iodide and potassium iodate in chloric medium

D.
potassium iodide and potassium periodate in perchloric medium

E.
potassium iodide and potassium iodate in present perchloric medium
111.
Cerimetry titration is spent in medium:

A.
The acidic

B.
The basic

C.
The neutral

D.
*Sulphatic acid
E.
chloridic acid and basic

112.
Reaction iodination organic substances with the help monochloride iodine proceeds slowly, therefore for definition Aethacridinum lactate is necessary to spend:

A.
displacement titration

B.
substitute-titration
C.
Reversive titration

D.
Direct titration

E.
*back-titration

113.
What is working solution in a method ”nitritometry“?

A.
Iron (ІІІ) nitrate
B.
Ammonium nitrite

C.
*Sodium nitrite

D.
Potassium nitrate
E.
Magnesium nitrite

114.
Which indicator is used for nitritometric definition of Novocainum:
A.
Redox-indicators

B.
Acidic-basic (rn-indicator)
C.
Metallochromic indicator
D.
*tropeolin with methylene dark blue
E.
adsorptive (eosine, fluoresceine)

115.
Which indicators use in cerimetry:

A.
External indicators and redox-indicators

B.
potentiometric method

C.
*Reversible redox-indicators and potentiometric method

D.
Reversible redox-indicators

E.
Irreversible redox-indicators
116.
In back-titration bromometry end always iodometry, therefore excess of bromine transfer in:

A.
bromate, which titrate by iodine

B.
*Iodine, which titrate by sodium thiosulphate

C.
Iodine, which titrate by potassium iodide
D.
Iodine, which titrate by potassium permanganate

E.
Bromide, which titrate by sodium nitrite
117.
Which indicators use in bromatometry:

A.
Metallochromic indicators

B.
External indicators

C.
Redox-indicators

D.
*The acid-base

E.
The acid-base and redox-indicators

118.
Titrant in method of bromometry is solution of …:

A.
*Br2
B.
NaBrО3
C.
KBr

D.
KВrО4
E.
KBrО2
119.
Contain of phenols can be defined, applying redox return (back-titration) titration:

A.
Ascorbinometry

B.
Permanganatometry

C.
*Bromatometry

D.
Dichromatometry

E.
Nitritometry

120.
Conditions of Nitritometric definitions:

A.
The acidic medium, presence KBr and slow titration

B.
The sulphatic acid medium, presence KBr

C.
*The chloridic acid medium, presence KBr and slow titration

D.
Slow titration (1 mL/min)

E.
The acidic medium and slow titration
121.
Choose indicator in method chloriodіmetry:

A.
phenyl anthranilic acid
B.
diphenylamine dicarboxylic acid
C.
ferroin
D.
diphenylamine
E.
*Starch

122.
For definition of the streptocide content use a method of Nitritometry. Titrant of method is a solution:

A.
The standardised solution of potassium nitrite

B.
Standard solution with prepared titer of sodium sulphate

C.
The primary standard of sodium thiosulphate

D.
*The secondary standard of sodium nitrite

E.
The secondary standard of sodium nitrate

123.
Solution iodine monochloride is titrant in method chloriodіmetry. It is …:

A.
Secondary standard solution which is standardised for sodium sulphite

B.
*Secondary standard solution which is standardised on sodium thiosulphate
C.
Primary, and can be a secondary standard solution

D.
Secondary standard solution

E.
Primary standard solution
124.
In which medium most often to do titration by working solution KMnО4?

A.
chloridic acid 

B.
weak basic
C.
*sulphatic acid
D.
The spirit

E.
The neutral

125.
Which substances are used in iodometry as working solutions in direct and back titration of reducers?

A.
K2Cr2O7, I2
B.
*I2, Na2S2O3
C.
I2, KI

D.
K2Cr2O7, Na2S2O3
E.
KMnO4, KI
126.
Contain of iron (ІІ) can be defined, applying direct titration by method:

A.
Ascorbinometry

B.
*Permanganatometry

C.
Titanometry

D.
Chromometry
E.
Iodometry
127.
In what medium oxidising ability of potassium permanganate is more?

A.
*In acidic

B.
In basic

C.
In weak acidic

D.
In the neutral

E.
In weak basic

128.
What is working solution (titrant) in dichromatometry?

A.
Chrome (ІІІ) bromide
B.
*Potassium dichromate
C.
Chrome sulphate (ІІІ)

D.
Chrome (ІІІ) nitrate
E.
Potassium chromate
129.
Titrant of permanganatometry is solution of potassium permanganate which is a secondary standard solution (0,1 mol/L). Exact concentration of potassium permanganate is defined on:
A.
Potassium hydroxide

B.
*Arsenic (ІІІ) oxide
C.
Sodium chloride

D.
Potassium dichromate
E.
Sulphatic acid

130.
Titrant in iodіmetry is the standard solution of:
A.
K2CrO4
B.
KI

C.
KIO3
D.
*I2
E.
Na2S2O3
131.
Choose reaction conditions for standardization of Potassium permanganate on oxalic acid?

A.
Any value of рН mediums

B.
Acidic medium, cooling

C.
Alkaline medium, heating

D.
*Acidic medium, heating

E.
Neutral medium, heating
132.
Which indicators use in dichromatometry:

A.
Metallo-indicators

B.
pH-indicators

C.
The acidic-basic indicators

D.
Metallochromic indicators

E.
*Redox-indicators

133.
Choose titrant (the secondary standard solution) in iodatometry:

A.
KIO2
B.
KIO4
C.
*KIO3
D.
КIO
E.
KI

134.
Choose indicator in iodatometry:

A.
The methyl orange

B.
diphenylamine
C.
Ferroin
D.
Starch

E.
*Starch or organic extragents (CHCl3, CCl4)

135.
Choose method of redox-titration for definition of hydrogen peroxide of without application of indicators:

A.
*Permanganatometry

B.
iodіmetry
C.
Cerimetry
D.
Dichromatometry
E.
Chloriodіmetry

136.
Change of colouring of redox-indicators is connected with:

A.
Establishment of balance of the reduced and oxidised forms of the indicator

B.
Change of concentration of certain metal ions in a solution

C.
Change of acidity of solutions and domination of acid or basic forms of the indicator

D.
*Domination corresponding oxidised or reduced indicator forms

E.
Establishment of some value of potential in system and corresponding redox - equilibrium for the indicator

137.
Which characteristic use for an estimation of possibility of oxidation-reduction processes pass?

A.
*Values redox - potentials

B.
Value of oxidation state of metal

C.
Number accepted or given electrons
D.
Value of electronegativity of elements

E.
Number of Hydrogene ions which take part in reaction

138.
Choose titrant for iodometric definition of oxidizers?

A.
Solution NaOH

B.
Solution K2Cr2O7
C.
*Solution Na2S2O3
D.
Solution KMnО4
E.
Solution I2
139.
Which indicator use in iodometry at definition of oxidizers?

A.
Solution of the methyl red

B.
diphenylamine

C.
chromogen black
D.
phenolphthalein
E.
*Starch solution

140.
In direct iodatometric definition of iodides for establishment e.p.t. (end point of titration) as "indicator" use chloroform. In e.p.t. observe:
A.
Organic layer will be orange

B.
*Organic layer will be violet

C.
Decolouration of an organic layer

D.
Decolouration of a water layer

E.
water layer will be blue

141.
Titrant of method iodatometry is potassium iodat (KIO3) which is:

A.
Primary, and can be a secondary standard solution which is standardised on iodine

B.
Primary standard solution

C.
*Secondary standard solution which is standardised on sodium thiosulphate

D.
Primary, and can be a secondary standard solution which is standardised on sodium thiosulphate

E.
Secondary standard solution

142.
Solution of iodine (titrant in a method iodimetry) is:

A.
Secondary standard solution which is standardised on sodium sulphite

B.
*Secondary standard solution which is standardised on sodium thiosulphate

C.
Primary, and can be a secondary standard solution

D.
Secondary standard solution

E.
Primary standard solution

143.
Which acid is used in Permanganatometry for definition hydrogen peroxide:

A.
*Sulphatic acid
B.
Chloric acid
C.
Аcetic acid
D.
Nitric acid
E.
Oxalatic acid

144.
Which indicator is indicator in fluoridometry:

A.
murexide, eriochrome Black T
B.
*Methyl red and methyl orange, alizarine S

C.
The acid-base indicators

D.
The methyl red

E.
The methyl orange

145.
We may use direct titration in iodatometry for definition:

A.
*Reducers and many organic substances

B.
Oxidizers and many organic substances

C.
Oxidizers and reducers

D.
Reducers

E.
Oxidizers

146.
Moisture content in drugs which have a hypersensibility to heats (thermolabile) define:
A.
*Non aqueou titration by Fisher's method

B.
Indirect volatilization method
C.
Direct volatilization method

D.
Bromatometric titration in neutral medium

E.
Volatilization method

147.
The direction of passage of oxidation-reduction reaction is defined:

A.
The nature of oxidation-reduction pairs
B.
competitive reactions
C.
*Real (formal) potentials of oxidation-reduction pairs

D.
Standard electrode potentials of oxidation-reduction pairs

E.
Thermodynamic equilibrium constant of oxidation-reduction reactions
148.
How calculate the equivalent weight of substances in reactions of oxidation - reduction?

A.
Molar weight divide on valence of metal
B.
Molar weight divide on product of oxidation state of metal on number of metal atoms of
C.
Molar weight divide on number of hydroxide ions which take part in reaction
D.
Molar weight divide shares on number of hydrogen ions which take part in reaction
E.
*Molar weight divide on number of electron which take part in reaction

149.
Which reaction use in quantitative definition of hydrogen peroxide, if we use working solution of KMnО4?

A.
Reaction of complexing
B.
*Oxidation-reduction reaction

C.
Precipitation reaction

D.
Reaction of dissolution of a precipitate

E.
Neutralisation reaction

150.
Which standard solution (titrant) is necessary to use for iodimetric definitions of reducers by direct titration?

A.
NaOH

B.
K2Cr2O7
C.
Na2S2O3
D.
*I2
E.
KMnO4
151.
Which standard solution (titrant) is used in Permanganatometry?

A.
Solution BaCl2
B.
*Solution KMnО4
C.
Solution Na2S2O3
D.
Solution K2Cr2O7
E.
Solution H2SO4
152.
Standardization sodium thiosulphate on potassium dichromate is spent by usage as the indicator:

A.
methylene dark blue (0,1 % solution)

B.
Ammonium iron (ІІІ) sulphate (the sated solution)

C.
*Starch (1 % solution)

D.
Methyl red (0,1 % solution)

E.
Methyl orange (0,025 mol/L solution)

153.
For definition of active chlorine content in potable water use a method:
A.
Permanganatometry

B.
Conductometry

C.
*Iodometry

D.
Dichromatometry

E.
Neutralizations

154.
Iodatometric titration is spent in the medium:
A.
Strong basic

B.
Weak basic

C.
The basic

D.
The neutral

E.
*The acidic
155.
Complexonometry is applied for definition:
A.
*anions and cations

B.
anions and cations of alkaline metals
C.
cations of metals majority

D.
anions by displacement titration

E.
cations of alkaline metals
156.
Indicators in mercurimetry is:
A.
iron (ІІІ) salts
B.
potassium chromat

C.
*Sodium nitroprusside or diphenylcarbazone

D.
diphenylcarbazone

E.
diphenylamine in mix with K3[Fe(CN)6]
157.
Choose titrant in cyanidometry:

A.
Solution of KCNО which is a primary standard solution

B.
Solution of KCNS which is a primary standard solution

C.
Solution of KCNS which is a secondary standard solution

D.
*Solution of KCN which is a secondary standard solution

E.
Solution of KCN which is a primary standard solution
158.
To complexation titration belong:
A.
acidimetry

B.
nitritometry

C.
*Mercurimetry

D.
Mercurometry

E.
Argentometry

159.
Which cations were caused water’s hardness?
A.
Sodium, Magnesium and Potassium cations

B.
Sodium and Potassium cations

C.
*Calcium and Magnesium cations

D.
Calcium and Potassium cations

E.
Magnesium and Potassium cations

160.
Which method use in mercurimetry:
A.
*direct or back titration
B.
direct
C.
displacement titration

D.
revertive titration

E.
back titration

161.
Titrant of mercurimetry is:
A.
secondary standard solution of Hg2(NO3)2
B.
*secondary standard solution of Hg(NO3)2
C.
solution of HgSO4
D.
Primary standard solution of HgCl2
E.
Primary standard solution of Hg2(NO3)2
162.
To complexation titration belong:
A.
Thiocyanatometry

B.
acidimetry

C.
alkalimetry

D.
*Complexonometry

E.
Mercurometry
163.
Which indicators use in complexonometry?
A.
methyl red and crystal violet

B.
*specific and metallochromic
C.
starch and iron (III) rhodanate
D.
phenolphthalein and methyl red

E.
diphenylamine and potassium dichromate
164.
Ca2+ is defined by fluoridometry. Choose method of titration.

A.
revertive titration of sodium fluoride

B.
displacement titration

C.
substitute-titration titration

D.
*back titration

E.
direct titration

165.
Cyanidometry is applied for definition of metal cations, which:

A.
Form with cyanide ions ionic associates

B.
Pass reactions of reduction with cyanide ions

C.
Pass reactions of oxidation with cyanide ions

D.
Form precipitates with cyanide ions

E.
*Form stable complexes with cyanide ions

166.
In complexonometry do not apply reactions of complex formation of which have a formation constant:

A.
More 106
B.
Less 107
C.
Less 108
D.
*More 108
E.
Less 10-8
167.
For quantitative definition of calcium in drugs use direct complexation titration with the indicator …:

A.
*Calconecarboxylic acid

B.
diphenylcarbazone

C.
diphenylamine

D.
The methyl orange

E.
tropeolin 00

168.
Displacement titration in complexonometry is applied for definition:

A.
anions which are oxidizers

B.
cations, which would not react with EDTA stoichiometrical
C.
cations, which form weak complexes

D.
*anions and cations, which form very strong complexes

E.
anions

169.
For quantitative definition of chlorides in drugs use mercurimetry with Sodium nitroprusside. In end point of titration observe:

A.
Disappearance of red colouring

B.
*formation of a white precipitate

C.
Occurrence of a red precipitate

D.
Occurrence of dark blue colouring

E.
Solution will be clear
170.
For definition of the total hardness of water by complexonometry apply medium:

A.
*The ammoniac

B.
Sulphatic acid

C.
Acidic

D.
acetic acid

E.
The basic

171.
Which indicator is indicator in cyanidometry:

A.
Suspension of mercury (І) iodide

B.
Suspension of silver bromide

C.
Suspension of silver chloride

D.
Suspension of mercury (ІІ) iodide

E.
*Suspension of silver iodide

172.
Trilon B is secondary standard solution. Exact concentration is established on:

A.
Standard solution of ammonium thiocyanide

B.
Standard solution of sodium chloride

C.
*Standard solution of zinc

D.
Standard solution of sodium hydroxide

E.
Standard solution of chloridic acid

173.
For definition of the total hardness of water by a method complexonometry apply as titrant:

A.
Primary standard solution of EDTA

B.
*Secondary standard solution of trilon B

C.
Solution of EDTA

D.
Solution of trilon B

E.
Primary standard solution of trilon B

174.
For definition of anions use complexonometry. It is possible:

A.
The displacement acid-base titration

B.
*Displacement and back titration

C.
Direct titration

D.
Back titration

E.
Indirect titration

175.
Iron (ІІІ) complexonate is very stable complex, therefore for iron definition use:

A.
Direct titration in the medium of an ammoniac buffer solution

B.
Back titration in the basic medium

C.
displacement titration

D.
*Direct titration in the acidic medium

E.
Back titration in the neutral medium

176.
In mercurimetry apply back titration for quantitative definition of ions:

A.
cyanide

B.
*Hg2+
C.
thiocyanide

D.
iodides

E.
Chlorides

177.
Titrant in complexonometry is:

A.
Primary standard solution of trilon B

B.
*Secondary standard solution of trilon B

C.
Solution of EDTA

D.
Solution of trilon B

E.
Primary standard solution of EDTA

178.
For standardization of secondary standard solution of Hg(NO3)2 use:

A.
Sodium carbonate

B.
Sodium sulphate

C.
*Sodium chloride

D.
Sodium thiosulphate
E.
Sodium thiocyanide

179.
For quantitative definition of chlorides in drugs use mercurimetry with diphenylcarbazone. In end point of titration observe:

A.
Occurrence of a red precipitate

B.
*Occurrence of dark blue colouring

C.
Disappearance of dark blue colouring

D.
Occurrence of a white precipitate

E.
Disappearance of a white precipitate

180.
For definition of calcium by a fluoridometry use:

A.
Reversive titration by fluorine

B.
revertive titration

C.
displacement titration

D.
*Back titration

E.
Direct titration by titrant solution

181.
For quantitative definition of iodides in drugs use mercurimetry. In end point of titration observe:

A.
Colourless of solution

B.
Occurrence of yellow colouring of solution

C.
*Occurrence of a red precipitate

D.
Occurrence of a white precipitate

E.
Dark blue colouring of a solution

182.
Which indicators are used in mercurimetry for definition of chlorides?

A.
The methyl red and crystal violet

B.
*Sodium nitroprusside and diphenylcarbazone

C.
Starch and iron (III) thiocyanide

D.
phenolphthalein and methyl red

E.
diphenylamine and potassium dichromat

183.
For quantitative definition of Magnesium sulphate in drugs use direct complexation titration with the indicator Eriochrome Black T. In end point of titration observe:
A.
Disappearance dark blue and occurrence of red colouring of a solution

B.
Occurrence of yellow colouring which passes in dark blue

C.
Occurrence of dark blue colouring which then disappears

D.
Occurrence of red colouring

E.
*Disappearance red and occurrence of dark blue colouring of a solution
184.
Method Mohr is used for definition of chlorides, bromides and also Ag+ ions in conditions:
A.
Strong basic medium

B.
*Neutral and weak basic medium

C.
Neutral or weak acidic medium

D.
In neutral medium

E.
In presence of chloridic acid
185.
Complexing indicator which are applied in precipitation titration, belong:
A.
dichlorofluoroscein

B.
eosine

C.
potassium cyanide

D.
potassium chromate

E.
*Ammonium iron (ІІІ) sulphate
186.
Precipitation titration curve is plotted in co-ordinates:

A.
*pHal or рМе - V of titrant

B.
C of titrant - V of titrant

C.
pHal - V of titrant
D.
Е - V of titrant

E.
pH - V of titrant
187.
Indicators in sulphatometry is solution:

A.
orthanilic А
B.
diphenylamine

C.
potassium thiocyanide

D.
potassium chromate

E.
*nitrchromazo, orthanilic А
188.
Direct titration in Volhard method is possible to define:

A.
anions
B.
*Ag+-ions
C.
halogenide- and thiocyanate-ions

D.
Zn2+-ions

E.
Chlorides and bromides

189.
Which working solution (titrant) use in Argentometry?

A.
*Solution of silver nitrate

B.
Solution of silver fluoride

C.
Solution of iron (ІІІ) nitrate

D.
Solution of mercury (ІІ) nitrate

E.
Solution of silver acetate

190.
Titrant of mercurometry method is solution:

A.
HgCl2, secondary standard

B.
HgCl2, primary standard

C.
Hg2SO4, secondary standard

D.
*Hg2(NO3)2, secondary standard

E.
Hg2(NO3)2, primary standard

191.
Titrant of thiocyanatometry method is solution:
A.
Ammonium iron (ІІІ) sulphate which standardise iodometry
B.
Primary standard of AgNO3
C.
AgNO3 which standardise on NaCl

D.
NH4SCN or KSCN which are primary standard solutions

E.
*NH4SCN or KSCN which standardise on AgNO3
192.
Choose without indicator method which is used in a precipitation method:
A.
Mohr method
B.
*method to point enlightenment

C.
Fajans - Fisher - Khodacov method

D.
Mercurometry

E.
Volhard method
193.
Hexacianoferratometry is one of precipitation titration method for definition of Zn2+-ions content. Titrant of this method is solution of:
A.
Na3[Fe(CN6)]

B.
K2Fe[Fe(CN6)]

C.
KFe[Fe(CN6)]

D.
*K4[Fe(CN6)]

E.
K3[Fe(CN6)]
194.
Sulphatometry is method of precipitation titration in which define Ba2+ or SO42- ions. Titrants of this method are solutions:

A.
К2SO4 and BaCl2
B.
Na2SO4 and BaCO3
C.
BaSO4 and H2SO4
D.
*Н2SO4 and Ba(NO3)2
E.
Na2SO4 and H2SO4
195.
Advantage of Volhard method compared with Mohr method:

A.
The solution of titrant is the primary standard

B.
Possibility of masking of interfere ions

C.
Possibility of use additional titrants

D.
*Titration possibility in sour solutions

E.
Titration possibility for many of ions

196.
The Fajans - Fisher - Khodacov method is used for definition of ions:

A.
silvers
B.
Sulphates and chromates

C.
chromates
D.
*Bromides and iodides

E.
iodides
197.
Titrant of Mohr method is:

A.
Standard solution of NH4SCN

B.
*Secondary standard solution of AgNO3
C.
Primary standard solution of AgNO3
D.
Secondary standard solution of NaCl

E.
Primary standard solution of NaCl

198.
Choose adsorption indicator which are applied in the Fajans - Fisher - Khodacov method:
A.
diphenylcarbazone

B.
Sodium nitroprusside

C.
potassium thiocyanide
D.
potassium chromate
E.
*eosine

199.
Requirements to reactions in precipitation titration:

A.
Pass selectively and stoichiometric
B.
*Pass quantitatively, quickly, stoichiometric
C.
Pass for short, but certain time

D.
Pass stoichiometric
E.
Pass quantitatively and quickly

200.
To 10,0 mL of 0,1 mol/L solution of sodium chloride add 10,1 mL of 0,1 mol/L solution of silver nitrate in presence potassium chromate. What will be solution or precipitate colouring:

A.
White precipitate and yellow solution over it

B.
The precipitate remains white

C.
The solution will change colouring from yellow to the orange-red

D.
The solution remains yellow

E.
*The precipitate will be red-brown colour

201.
What is a working solution (titrant) in Volhard method?

A.
Potassium dichromate

B.
Potassium chromate
C.
*Silver nitrate

D.
Ammonium thiocyanide

E.
Sodium chloride
202.
What is the indicator in argentometry for definition of chloride ions in Mohr method?

A.
potassium dichromate

B.
*potassium chromate
C.
Eosine

D.
Dichlorofluoroscein

E.
The sated solution of iron (ІІІ) ammonium sulphate

203.
For definition of sodium chloride in a drugs use direct titration by Fajans - Fisher - Khodacov method. Titration is used in the presence of the indicator:

A.
Solution of sodium eosinate (0,1mol/L)

B.
Spirit solution of diphenylcarbazone (W=1-2 %)

C.
The sated solution of iron (ІІІ) ammonium sulphate

D.
*Solution of dichlorofluoroscein (W=0,5 %)

E.
Solution of potassium chromate (W=5 %)

204.
Which titrant is titrant in Fajans - Fisher - Khodacov method?

A.
*AgNO3, which is the secondary standard

B.
NaCl which is the secondary standard

C.
K2CrО4, which is the primary standard

D.
NaCl which is the primary standard

E.
AgNO3, which is the primary standard

205.
Advantage Mercurometry in comparison with argentometry is:

A.
The higher accuracy, definition possibility in sour solutions and smaller quantity of stirring ions

B.
Do not interfere many ions of metals and anions
C.
Titration possibility in the sour medium

D.
The higher sensitivity and accuracy of definition

E.
*Higher accuracy and wider borders of рН titration
206.
Back titration in Volhard method is possible to define:
A.
anions
B.
Ag+-ions
C.
*halogenide- and thiocyanate-ions

D.
metal cations
E.
Chlorides and bromides

207.
Choose without indicator method which is used in a precipitation method:

A.
Mohr method
B.
*Gay-Lussac method

C.
Fajans - Fisher - Khodacov method

D.
Mercurometry

E.
Volhard method
208.
Choose precipitation indicator which is used in a precipitation method:
A.
*Potassiun chromate

B.
Eosine
C.
Iron (ІІІ) sulphate
D.
Potassium thiocyanide
E.
Potassium cyanide
209.
The received precipitate (in precipitation titration) should be practically insoluble, so its Ksp must be:

A.
less 10-5
B.
less 10-6
C.
*less 10-10
D.
more 10-10
E.
more 10-6.

210.
Which method you may use for definition of sodium chloride in injection solutions (neutral medium):

A.
A method of the acid-base titration
B.
Fajans - Fisher - Khodacov method

C.
Gay-Lussac method

D.
Volhard method

E.
*Mohr method
211.
What analytical signal is observed during fixation of equivalence point in the Fajans - Fisher - Khodacov method?

A.
Formation of yellow precipitate

B.
*Precipitate is colouring in crimson colour

C.
Solution is colouring in yellow colour

D.
Solution is colouring in red colour

E.
Formation of brown precipitate

212.
In methods of titrimetric analysis use oxidation-reduction reactions; complexing; precipitation; neutralisations. Which reaction is used in argentometry?

A.
Reaction of complexing

B.
Neutralisation reaction

C.
Oxidation-reduction reaction

D.
*Precipitation reaction

E.
Reaction of bromides oxidation to free bromine

213.
For definition silver nitrate in drugs use direct titration (Volhard method). Titration is used in the presence of the indicator:
A.
*The sated solution of iron (ІІІ) ammonium sulphate

B.
Spirit solution of diphenylcarbazone (W = 1-2 %)

C.
Solution of dichlorofluoroscein (W = 0,5 %)

D.
Solution of Potassium chromate (W = 5 %)

E.
Solution of Sodium eosinate (C = 0,1 mol/L)
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